3/7/23, 429 AM Response Sheet

KVS DIRECT RECRUITMENT EXAMINATIONS
ndidate R n heet

Roll Number

Name of the Candidate

Examination Name KVS PRT 24 FEB SH1
Exam Date & Time 24-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT24FEBSH1
Question ID:- 1

ADORATION

Choose the word similar in meaning to the one given above :
(1) Liking

(2) Worship

(3) Admiration

(4) Respect

Options:-

=1, Option ID :- 1,

= 2, Option ID :- 2,

= 3, Option ID :- 3,

= 4, Option ID :- 4,

Answer Given:- 3, Option ID : -3
Question ID:- 2

VIGILANT
Choose the word opposite in meaning to th one given above :
(1) Valuable

(2) Careless

(3) Slow

(4) Useless
Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3

Identify the part of speech of the underlined word in the following sentence.

Why don’t you celebrate your suc ess ?

(1) Adverb
(2) Pronoun
(3) Verb

(4) Adj ctive

Options:-
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=1, Option ID :- 9,

= 2, Option ID :- 10,

= 3, Option ID :- 11,

= 4, Option ID :- 12,

Answer Given:- 4, Option ID : -12
Question ID:- 4

The shot killed the man-eater.

Choose the option in which VOICE in the abeve sentence has been correctly changed into Passive.
(1) The man-eater has been shot killed.

(2) The man-eater was killed by the shot.

(3) The man-eater has been killed.

(4) The man-eater has been killed by the shot.

Options:-

=1, Option ID :- 13,

= 2, Option ID :- 14,

= 3, Option ID :- 15,

= 4, Option ID :- 16,

Answer Given:- 2, Option ID : -14
Question ID:- 5

Lalita said, “I can cook a quick meal.”

Choose the option in which the speech in the above sentence has been correctly changed into
Indirect Speech.

(1) Lalita declared that he an cook a qui k meal.

(2) Lalita claimed that she could cook a quick meal.

(3) Laita said that I can cook a quick meal.

(4) Lalita told that she could cook quick meal.
Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
= 3, Option ID :- 19,
= 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6
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Choose the option in which the following jumbled words/phrases have been rearranged to form a
meaningful grammatically correct sentence.

(A) given

(B) was

(C) the plan

(D) support

(E) wholehearted

(M (B © (A) (E) (D)
(2)  (©) (B) (A) (E) (D)
(3) (D) E) (4) (B) (©)
(4 (&) (B) ©) (E) (D)

Options:-

=1, Option ID :- 21,
« 2, Option ID :- 22,
» 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22

Question ID:- 7
Identify the part of the following sentence which has an error.

Ram did not like you going there ;

(a) (b) (c) (d)

(1) (a)
2 (b)
(3 (©
(49 (d)
Options:-

»1, Option ID :- 25,
» 2, Option ID :- 26,
« 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

I could read the lines that you don't like this job.
(1) into

(2) through

(3) by

(4) Dbetween

Options:-
»1, Option ID :- 29,
« 2, Option ID :- 30,
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« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

Kalpana is indebted me.
(1) in
(2) into
(3) to
(4) for
Options:-

=1, Option ID :- 33,

= 2, Option ID :- 34,

=« 3, Option ID :- 35,

=« 4, Option ID :- 36,

Answer Given:- 3, Option ID : -35
Question ID:- 10

Fill in the blank in the following sentence by choosing the orrect option out of the given ones.

Ramlal was provided ~~ food for one month.
(1) for

(2) with

B n

(4) onto

Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
=« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_PRT24FEBSH1
Question ID:- 11
Hrer fu mT mEnYr = yge Haitys 3faa e o e it -

AR iR Hd ufed Ffea ¢ 139 wfem o1 Ay w0 7o) O o 3 §- 59 [ ufE Sy A
HIYAT 1 AT 3-Teh 3 Al SRR I A9 AT 3R gHA R wgafedl & fawm wani
TSHAIE - FAH
(1) wifed 1 fashry e

(2 wfe = JEA
G IR UESRIGIETC
(4) wifad =l foumn

Options:-
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=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12

e feu @ T i yga Aty 3foq faswsu r wea &ifau -

AN iR FAd wid fafea & 130 ufsa =1 3y F0 =W g w1 & 59 @ vfEg Sy A
HIYAT 1 A% §-Teh S d AR I 719 A1 3R gEl AR agafaat w1 fawg &)

WY R A S -

(1) HYT-9Y GGG

(2 =B H gfd FA

(3) TRl = THA FA

(4) FoOTSI B AT HAT
Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
=« 3, Option ID :- 47,
= 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13
= feu 10 wenyr i yeEt WAty 3fad famcu @1 wea &ife -

gaR a3 wfaa fafed %) 39 o 1 Site o6 w&m | gon 1 939 @ 5A 7 wfad Sy wE)
HIEHT 1 AT 8-TF AR T qEAT 1 79 FAT AR HY 3R gggfodi =1 faswm &)

‘3 IR G argd © -

(1) & #E Faa

2) fog® Fh | @
(3) [Smmt w18 =A@

(4) Foaa) g Afaems 9 8

Options:-

=1, Option ID :- 49,

=« 2, Option ID :- 50,

» 3, Option ID :- 51,

= 4, Option ID :- 52,

Answer Given:- 3, Option ID : -51

Question ID:- 14
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e fequ T TV W ugeEt waifue sfoa fawen s wew sifag

AR iR F4d wid fafea T 130 wfeq o1 Ay F03 w3 = w1 i {59 @ vfEg Sy B
HIYAT 1 A&F &-Teh 3T Al a1 Sl 19 A1 3R SHA R wagfadl 1 fawmg &)

wifaa &1 9y -
() TAHR
2) SeI®
(3) SEwES ¢
(4) FEYE T
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,
= 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

Arer fou T WY Y ugE WAty Stud fawhcu @ waA S -
AR iR Hd ufed Ffed ¢ 137 ufsd =1 Fy e 7S ) e o 39 - 59 { ufE Sy A
HIEAT sl A% §-Teh ST a1 AEARA ol A1 LAl 3R gHA R dgafad 1 fawmg &

‘fafea’ @ areed §
(1) drRE
(2 fewgm

(3 THE

(4) TS S
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
=« 3, Option ID :- 59,
= 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

(1) R
(2) farer
(3) YHA
(4) 3@
Options:-

=1, Option ID :- 61,
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= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17
THH-TGYE T T TH § -
(1) 3737y

(2) forpa-faseh

(3) wifcw-den

(4) dra-fas
Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
=« 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

) "=
3) HH+&R
(4) Hi+=
Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
=« 3, Option ID :- 71,

» 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19

“Hied 7 "8 %) i &) | 719 o W@iferd A9 H FRE § -

(1) el SR
(2) HISH FHh
(3) HH FH
(4) 3UEH W&
Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,
= 4, Option ID :- 76,
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Answer Given:- 2, Option ID : -74

Question ID:- 20

‘Tz 1 qAimETE) U A8 o

() =
(2) ¥
(3) wm
C
Options:-

=1, Option ID :- 77,
= 2, OptionID :- 78,
« 3, Option ID :- 79,

=« 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GA_Q21-Q30_PRT24FEBSH1

Question ID:- 21

Which of the following protections is guaranteed by the Indi n Constitution as part of the
Fundamental Rights ?

(1) Protection from being asked t be a witness in a criminal investigation.

(2) Protection from prosecution in case of a physi al di: ability.

(3) Protection from trial in case of an anticipatory bail.

(4) Protection from punishment for the same offence twice.

TR % HiauE g ga aifuerl % ®9 § Refafad § § feg gem s mwid g d0
(1) Uk AR Wi H a7 S S & o b o[ G G

(2) SRR AT g R GHeH! I I A FE

(3) STfH IHAT & AW § JheH I W4 § Higw

(4) TH & 9y F forw S IR T iU 91§ G

Options:-

=1, Option ID :- 81,

»« 2, Option ID :- 82,

« 3, Option ID :- 83,

=« 4, Option ID :- 84,

Answer Given:- 4, Option ID : -84
Question ID:- 22

Which was the first port to be developed after Independence te compensate for the loss of the
Karachi port to Pakistan after Independence ?

(1) Jawaharlal Nehru port in Mumbai
(2) Marmagao port in Goa

(3) Kandla port in Kuchchh

(4) Haldia port in Haldia
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WAl & AR A S_NE H1 e H g9 9 4 g8 @ #) afqyfd % fog fosfaa fam s aren ween
UG I H1 912

(1) Y= fod JAIRAT™ T6% 9gUNE

(2) M feurd AEAEnsh deTTE

(3) =3 frud sigdr sicuE

(4) sfeean ferd gfeea deums

Options:-

=1, Option ID :- 85,

= 2, Option ID :- 86,

=« 3, Option ID :- 87,

= 4, Option ID :- 88,

Answer Given:- 3, Option ID : -87
Question ID:- 23

Bangar and Khadar are types of which kind of soil ?

(1) Alluvial

(2) Black

(3) Yellow

(4) Arid

IR AR @i oy wehr &) fgedt €2
(1) eiig

(2) =ren

(3) i

4 Y=
Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
=« 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24
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Which among the following are Bretton Woods Institutions ?
(a) International Monetary Fund

(b)  World Trade Organisation

(c) International Labour Organisation

(d) Internatonal Bank for Reconstruction and Development

Choose the correct answer from the code below :
(1) (a) and (b)

frafafad 5 4 1 e g8 s § 2
(a) SRR HgT1 iy

(b) fowd =ATIR G

(c) LT 95 FI3F

(d) Sfatia gafmior oir fawm S

1< fou 7w e # | W IW T4 FHifeY |
(1) (a) 3R ()

(2 (a) 3 (@)
(3) (b) #R (o)
(4) (o) 3R (@)
Options:-

=1, Option ID :- 93,

= 2, Option ID :- 94,

=« 3, Option ID :- 95,

=« 4, Option ID :- 96,

Answer Given:- 4, Option ID : -96
Question ID:- 25

Which among the following options follows the correct chronology in which the events took place
in Modern Indian History, starting from the event that occurred first to the last ?

(1) Home Rule Movement — Formation of the Indian National Congress — Formation of the
Muslim League — Non- Cooperation movement

(2) Formation of the Indian National Congress — Formation of the Muslim League — Heme
Rule Movement — Non- Cooperation Movement

(3) Formation of Muslim League — Civil Disobedience Movement — Non- Cooperation
Movement — Dandi March

(4) Non- Cooperation Movement — Home Rule Movement — Dandi March — Quit India
Mo ement
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frafafad 4 9 wF @ fawea ayfTs 9ra & 3faem o g8 Teasil 1 ved 4 o 1% H g3 vl & feae
Y e wAHY T 2
) M FA AR — WRAT WL HIUH T84 — GEeAg T H T4 — JTHSAN QAT
(2) HRAE UL FHIUH I TS - M A H TS - T8 T AT — WEAT e
) HEAH @ TR — JiTE Req AT - FHgAr! A — &€l 9T
) 3THEAT ARITH — FH & AT — T HHE — 9Rd BN Al

Options:-

=1, Option ID :- 97,

»« 2, Option ID :- 98,

« 3, Option ID :- 99,

=« 4, Option ID :- 100,
Answer Given:- 2, Option ID : -98
Question ID:- 26

Who won the award for the best actor (Female) in 53rd International Film Festival of India (IFFI),
2022 held in Goa ?

(1) Daniela Marin Navarre

(2) Maribel Guardia
(3) Thelma Darkings
(4) Ruby O. Fee

e § snaifsd 539 ofadisil yRdts fher ndicga 2022 # w9 AN &1 Qe fva offa ?
(1) fen wfE [Em

2) wif@a dfem
(3) o9 srfFw
(4) wo FE
Options:-

=1, Option ID :- 101,

= 2, Option ID :- 102,

=« 3, Option ID :- 103,

=« 4, Option ID :- 104,

Answer Given:- 4, Option ID : -104
Question ID:- 27

Which of the following is not celebrated on 26th November ?
(1)  United Nations Organisation (UNO) Founding Day
(2) Constitution Day of India

(3) National Milk Day in India

(4) W rld Olive Tree Day acros the W rld
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gTH H &1 26 T ! el A1 G © 2

(1) HgH T 99 (Y TA.29.) A fkad

(2) o &1 Wfawd g

(3) WA | U< gy feaw

(4) fowaw & fawa affea @ faw

Options:-

=1, Option ID :- 105,

= 2, Option ID :- 106,

= 3, Option ID :- 107,

= 4, Option ID :- 108,

Answer Given:- 1, Option ID : -105
Question ID:- 28

Who among the following was awarded the Bal Sahitya Puraskar 2022 in Santali language ?
(1) Dilip Kizku

(2) Gurai Kizku

(3) Bijay Murmu

(4) Ganesh Marandi

Horell 9T § 2022 3 96 Hifed qEEhR R we[ o o ?

(1) fechiv e
(2 TR g
(3) fasmmgq
(4) Y wGE
Options:-

=1, Option ID :- 109,

= 2, Option ID :- 110,

= 3, Option ID :- 111,

= 4, Option ID :- 112,

Answer Given:- 3, Option ID : -111

Question ID:- 29

Which State bagged the highest number of medals in all the three categories (Gold, Silver and
Bronze) in the 36th Natienal Games held in Gujarat in September- October 2022 ?
(1) Haryana

(2) Maharashtra

(3) Karnataka

(4) Tamil Nadu
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o o FarsR-SFageR, 2022 § JAINd 36 3 U Wl | fRa o A T 4forll (wl, 99 @i i)
H gaifers vew wa fwu 2

() &t=m
(2) HBY
(3) @HAleH
(4) dfEaTg
Options:-

=1, Option ID :- 113,

= 2, Option ID :- 114,

« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113
Question ID:- 30

A simple pendulum takes 60 seconds to complete 30 oscillations. What is the time period of the
pendulum ?

(1) 1800 seconds

(2) 2 seconds

(3) 0.5 seconds

(4) 30 seconds

T JYY dlds (TgTH) 30 44 &l QU FE H 0 e ad 81 ofiedes ) 999 o5afy #1 § 2
(1) 1800 #HfFe

(2) 2 dfss
(3) 0.5 dfFke
(4) 30 dfde
Options:-

=1, Option ID :- 117,
=« 2, Option ID :- 118,
« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_PRT24FEBSH1
Question ID:- 31

How many odd numbers are there in the following number sequen e each of which is immediately
preceded by odd number and is immediately succeeded by even number ?

3127336532431344343
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frefifad Hen w8 9 Y4 faaat faun e € 59985 9 wdls & UFeq yge fawm g @ ik te g8 e
o 99 e e ?
3127336532431344343

(1 2
(2 3
3) 5
(4 4
Options:-

=1, Option ID :- 121,

= 2, Option ID :- 122,

= 3, Option ID :- 123,

= 4, Option ID :- 124,

Answer Given:- 3, Option ID : -123
Question ID:- 32

Maya walked 30 metre towards North. She then turmed to her left and walked 15 metre. She then
turned to her left and walk d 30 metre. She then turned to her right and walked 25 metre. How
far is she from the starting point ?

(1) 70 metre
(2) 80 metre
(3) 90 metre
(4) 40 metre

T IR ) 3R "0 Wt Tt §1 o g8 ol AR gHd € 3R 15 Hiew g7t ¥ 1 R a7 il v JEaR
30 /X Tad 21 R a7 1ol <l 3R gAd) § IR 25 WX aadl § | 98 ARV fag A fRadt g w2

(1) 70 HiX
(2) 80 "X
(3) 90 "
(4) 40 HIR
Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,
= 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33
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Eight friends ‘A’, ‘B, 'C’, 'D’, ‘'E’, 'F/, ‘G’ and "H’ are sitting around a circular table at an equal
distan e, facing the centre.

A’ is neighbour of ‘B’. ‘D’ is neighbour of ‘E’” and is sitting on the immediate right of ‘C’. ‘G" is
not neighbour of ‘B" and ‘F’. “A’ is third to the left of ‘". There is exactly one person between ‘F’
and ‘G

Who is sitting opposite to “H’ ?

() E
(2 D
3 C
4 B

ame fag 'A’, ‘B, 'C’,'D,'E, ‘F, ‘G’ 3R 'H &% JUHR 8F & IRl 3R 39H 57 #) dAR 4§ i 991
HKURECCES

‘A’,‘B HTUSH ® 1 ‘DY, ‘E’ 1 9SrET § 3R ‘C’ F UahH i ;IS €1 ‘G, ‘B’ ‘F 1 USHT A8 §)
‘A’,F % IET 3 R R W AS ® F 3R ‘G’ F 1Y o U Al &3 § |

‘H % HiHA FH 481 8 ?
(1) E
(2) D
@ C
(4) B
Options:-

=1, Option ID :- 129,

= 2, Option ID :- 130,

= 3, Option ID :- 131,

= 4, Option ID :- 132,

Answer Given:- 1, Option ID : -129
Question ID:- 34

Given below is a question followed by two statements numbered (I) and (II) each containing some
information. Decide which of the statemenl(s) is/are sufficient to answer the question.

(Q) Among the five friends ‘P, ‘Q’, ‘R’, “S” and "T", who is the heaviest ?
(I) “T” is heavier than only ‘P’
(I1) ‘R’ is heavier than ‘P’ and “T" and is less heavier than ‘Q" who is not the heaviest.

(1) The statement (I) alone is sufficient to answer the question while statement (II) alone is not
sufficient.

(2) The statement (II) alone is sufficient to answer the question while statement (I) alone is not
sufficient.

(3) Both statements (I) and (I) together are necessary to answer the question.
(4) Both statements (I) and (II) together are not sufficient to answer the question.
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4wk WA T o @ forad =g ) e (1) i e (1) fRu au E o wers J o sHsR &1 g )
a1 favfa FfSY f 1 qrd S99 999 H W 24 & fou waia 8/8 )

e wig fg=di P, QL R, ‘S ST § 8 $H a9 B 59 9/ § 2

FI() ‘T Faad P A IR

HmUF () ‘R, P T ] 9l @ o 'Q A 19 9l & <1 §odt 3ifersh 9l == €)1

(1) e (I) 3Hc T H1 3T 3 & 70 g & safeh oM (I1) et v 421 &
(2) A (II) 3FHe TH 1 IR 4 F fou g3 ¥ wafen weR (1) @hed waia & @
(3) WY (1) 3R T (1) 7 FAaH 939 &1 IW A & fow s@9F 2

(4) R (1) 3l e (11) S fda wed &1 IW A & fon waig 48 2

Options:-

«1, Option ID :- 133,

« 2, Option ID :- 134,

« 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, square represents athletes, circle “epresents boys, triangle represents
disciplined and rectangle represents honest.

12

8 4k/15 16

13

How many disciplined boys are there who are neither athletes nor honest ?
() 9

(2) 12

(3 15

(4) 1o
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9 fau mu e § = uyeliel @, 99 eish &, Fige siqmfadl #1 9un syd $areR w1 wfafafue s
2

6
7

9 Fe 1

8 4k/ 15 | 16

13

\\/
1 fa sefad g & ot 9 a1 worefie € o € $arer 2
(H 9

2 12
3 15
(4) 16

Options:~

«1, Option ID :- 137,
» 2, Option ID :- 138,
» 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT24FEBSH1
Question ID:- 36

is the standard input and eutput device which beth receives information and displays
it as well. It eliminates the use of a keyboard or a mouse.

(1) Trackball

(2) Touchpad

(3) Touch screen
(4) Track screen

U% HEF $YE iR 3SR feary ® <l o wd wwd! @ o 39 ycfils off &t %1 1@
ot 19 o1 9r3w F W S GEE A R

(1) gHhard
(2) <=t
(3) =3 BRHA
4) T BHA
Options:-

=1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,
« 4, Option ID :- 144,
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Answer Given:- 3, Option ID : -143

Question ID:- 37

Which of the following software is best suited to store, organize and analyze mathematical
(statistical) data ?

(1) Ms-Excel

(2) Ms-Word

(3) Ms-PowerPoint

(4) Ms-Edge

fardt nfirdfi (wifersia) =1 %1 B #31, =rafer 3 au 39 favean #3 % fou gaifus suga
HiRaI HHA TR ?

(1) THCE-TF

(2) T TH-gE

(3) T TH-YERWiEE

(4) THWETH

Options:-

«1, Option ID :- 145,
» 2, Option ID :- 146,
« 3, Option ID :- 147,

=« 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38

When I connect my mobile phone with my desktop using a data cable to transfer images, what
type of network is formed ?

(1) LAN
(2) MAN
(3) PAN
(4 WAN

54§ 39 AW H1A F ToIu U ST Had % WeAg F o194 Hiergd B H 79 SRy d SIed g A
g g W Jeash T4 § 2

(1) TaTEA (LAN)
(2) WY (MAN)
(3) 9T (PAN)

(4) TELUTA (WAN)
Options:-

»1, Option ID :- 149,

« 2, Option ID :- 150,

« 3, Option ID :- 151,
= 4, Option ID :- 152,
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Answer Given:- 1, Option ID : -149

Question ID:- 39

Files stored on the ___can be accessed anvtime from anywhere.
(1) Local storage
(2) Cloud .torage
(3) Hard disk
(4) Network storage
TR & T EWFA H Al /@ off Hit ot 1y fm -1 " §)
(1) e B
(2) FARIE LBRHA
3) =& femn
(4) ATEH =rE
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Identify the cyber-crime, penalised by the  Act 2000 from the following :

(1
(2)
(3)
(4)

Data Theft
Jewellery Theft
Terrorism

Impersonation

3 A TFR-2000 % 984 FAfafad 3 & foy ggaR-3190y & d8d Tsh 3790 941 T € ?

(1) &= 9l

(2) +SEd & AR

(3) SAdhaE

(4) 9fasum
Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT24FEBSH1

Question ID:- 41
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What do you understand the term ‘Growth’ in child’s development ?
(I) Ttis reversible physical change.

(2) Itis irreversible physical change.

(3) Itis irreversible emotional change.

(4) Itis reversible social change.

a7 & o | 'afg’ ug 4 o . guEd § 2
(1) e U Hehrvi Wifite ufiadd €

(2) @8 FFeHAY oI afEda 2

(3) F® “iEshHT Hameas uited ¥

(4) & Hehguitg grafes yRadd & |

Options:-

«1, Option ID :- 161,
« 2, Option ID :- 162,
« 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42

Which one of the following feature falls in the category of ‘Social domain’ of child’s
development ?

(1) Cycling with friend

(2) Sharing of toys with neighbourhoed thild
(3) Crying with peers

(4) Shouting on friends

fae=ifra § 4 #9-4 fadua aors * faem & amfes &3 6 3o § e 22
(1) FE & M gEse =Jam

(2) YO ards & Ay fEdn i qEn S

(3) WEHETY TcAh] G A

(4) A R e

Options:-

»1, Option ID :- 165,
« 2, Option ID :- 166,
« 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43
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"Telling truth’ by child comes under :
(1) Physical domain
(2) Cognitive domain

(3) Moral domain
) Social domain

(4

T 511 ' 9 a9 dier faeifed § 9 fagst 9ot 8 e 22

(1) wdfes &=
(2) HIAHEF 5
(3) Ao &3

(4) gmfes &3
Options:-

=1, Option ID :- 169,

»« 2, Option ID :- 170,

»« 3, Option ID :- 171,

» 4, Option ID :- 172,

Answer Given:- 3, Option ID : -171
Question ID:- 44

Identify which one of the following is example for ‘Socio-emotional learning’ in child
(1) Discipline

(2) Establishing relationship

(3) Punctuality

(4) Positive attitude

F=ifa 9 9 T & ‘ aEfeH-FHands stem ' % 7w F Rgifsd i

(1) FTUE

(2) HaY ®fd K
(3) wwafAsa

(4) =PWAH AH9gha
Options:-

=1, Option ID :- 173,
= 2, Option ID :- 174,
« 3, Option ID :- 175,
= 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45
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Normally the “ Adolescence” falls under which age :
(1) 6 - 12 years

(2) 13 - 21 years

(3) 18 - 25 years

(4) 21 years and above

qrad: - fesnaaren’ [A=ifeed 3 8 fvq ag-a71 & jaria g S 8 2
(1) 6 X 1294

(2) 13 § 21 94

(3) 18 ¥ 25 99

(4) 21 99 3R IWH IW

Options:-

=1, Option ID :- 177,

= 2, Option ID :- 178,

= 3, Option ID :- 179,

= 4, Option ID :- 180,

Answer Given:- 2, Option ID : -178
Question ID:- 46

Most of the Adolescent children expect in schools
(1) Co-operation

(2) Focus

(3) Socio-emotional support

(4) Attention

SAfirerier ForeR =tk Gl 3 fpg s =61 279201 Wad € 2
(1) Had

(2) AT HEW

(3) TEIfSss-H3mMcE®H Team

(4) =19

Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47
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is leading cause of mental illness among present day youth.

1)  Psychosis

2)  Anxiety disorders

3) Neurotic problems
4) Low self esteem

SAHE 9T % 49 H HHEGF S S g9@ R H=ifhd 5 G e ?

(1) =A™

(2) gfe"ar fasr

(3) dfasREs deie gg@d

(4) ATH-THE H HF Al
Options:-

=1, Option ID :- 185,

= 2, Option ID :- 186,

= 3, Option ID :- 187,

= 4, Option ID :- 188,

Answer Given:- 2, Option ID : -186
Question ID:- 48

What is the primary socialising agen« ?

(1)  School
(2) Play ground
(3) Family
(4) Media

fraifera § 9 =1 wrafge GESiR 3w (TsE) €2

(1) *=pd

(2) Wd @ HaH

(3) 9REr

(4) SASER Ay (Hifean)
Options:-

=1, Option ID :- 189,
»« 2, Option ID :- 190,
= 3, Option ID :- 191,
= 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49
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How parents can establish home-school continuity in learning ?

(1) Parents can arrange tution at home,

(2) Parents can set a flexible but consistent daily study routine at home.
(3) Parents can conduct exams at home.
(4)

4 Parents can regularly take feedback on schools activities on daily basis.

T foan frg e stfarm § e foaemer e wenfua &% 9 € 2

(1)  HTa-foar =% R Z9H 1 w1 T Tohdl ¢ |

(2) wmE-faan =R 9 wiEEr fog e 8fe srorm =t foreat fvifa o v §)
(3) wTa-fidn =R o¥ wiiemd SrEfed R Tehd € |

(4) wrar-Tyan €FeF sTuR W foee & s § Hetud giagfie o e €1

Options:-

«1, Option ID :- 193,
» 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

AEP [Adolescence Education Programme] aims at :

(1) To create awareness on Examination system.

(2) To create awareness among adolescents on Juvenile issues.
(3) To promote discipline among youth
(4) To promote mental fithess among children

T 3. . (forsir fonen svrferm) o1 /99 ®

(1)  odian gormeft o & H SRRl Scdel il

(2) Toreir & wafea wmei (fawdl) & aR o fvR sers-arfasei °§ Srpfa Sas &
(3) JIHI H STIIA I F@ET

(4) TETH-SfcrRIst H HFEE A 6l FREr S

0y

2

Options:-

«1, Option ID :- 197,
» 2, Option ID :- 198,
» 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51
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Which one of the these is an essential factor for learning at home in early stages of child's
development ?

(1) Social support by kith and kin in family.

(2) Psychol gical and emotional support especially by mother.
(3) Emotional support by Father.

(4) Regular family’s social functions.

1A o [FHE & s = W 1w g 3fm & fau Foifed 9 9 s iEvas RS 82

(1) ufEr | 57 Hafudi gro 9o geqm

(2) f&¥m w9 3 grar g0 5i37Hs ok gamaE eam
(3) Tudr g Hamens geam

(

4) faafma w9 A ¢ aret yRar & amifss FEdmn

Options:-

«1, Option ID :- 201,

« 2, Option ID :- 202,

» 3, Option ID :- 203,

= 4, Option ID :- 204,

Answer Given:- 2, Option ID : -202
Question ID:- 52

What is actually ‘maturation’ in child’s growth ?

(1) Itis child's growth and development that curs concurrently.
(2) Itis only growth.

(3) Itis only development.

(4) Itis only Emotional development.

Al o faww § agga: aftuaedr’ #1 aeed Feifed § 9 R R0
(1) I oo +i gfg 3 sa faswm & < SF1 wg-any €
(2) g9 arcqd had Hafg F 7)

(3) &9 argd Hadt famm 4 R

(4) 8 haa HameHS fawy | Heifug €

Options:-

«1, Option ID :- 205,

» 2, Option ID :- 206,

« 3, Option ID :- 207,

« 4, Option ID :- 208,

Answer Given:- 1, Option ID : -205

Question ID:- 53
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The differentiation between ‘Good and Bad’ by child refers to
(1) Moral domain

(2) Emotional domain

(3) Cogniti e domain

(4) Social domain

AT g1 ITH AR FU' A H fasg oo s F=ifera 8 9 frg &3 9 defua 82
(1) Afdsh &=

(2) Gl 8

(3) HaHEH® &

(4) arEfss &=

Options:-

=1, Option ID :- 209,

=« 2, Option ID :- 210,

= 3, Option ID :- 211,

= 4, Option ID :- 212,

Answer Given:- 1, Option ID : -209
Question ID:- 54

Which one of the following plays a key role in Educating the child after the school ?
(1) Home

(2) Family

(3) Media

(4) Teacher

fagEa % =g aa® & e J fAmifa 9 4 s gfas o da €2
(1) &

(2) 9REr

(3) SA-HER HeAH

(4) IHEqh
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
= 3, Option ID :- 215,
= 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55
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Which one of the following could be mental characteristic feature of Adolescent ?
(1) Feel awkwardness

(2) Crisis period

(3) Find fault with others

(4) Over confident

f=ifea 4 | o frem =t gafas [ema @ gwd g2
(1) 39S HegH &l

(2) HeheHRAR HHAEly

(3) = AT w1 BEreum

(4) Hfa-sticafavad $1 9E

Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
=« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT24FEBSH1
Question ID:- 56
Learning is commonly perceived a
(1) Acquiring knowledge
(2) Altered positive behaviour
(3) Developing skill
(4) Understanding nature

‘3’ ge=E: fee ®Y H 9E9 ST ©

(1) FASHA

(2) uRafdd ¥ AsER
3) Fe fawm

(4) wHfd 5 wH

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,
= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57
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Behavioural theory of learning is based on :
(1) Maturation

(2) Sensory perception

(3) Stimulus-response

(4) Attitudinal change

AR &1 oaggRaIE! fagiq FAfafEs 3 4 feg w suRg e 2 2
(1) gRg=adr

(2)  Ha< TARfE
(3) 3 kM
(4) Ifugfaws gfiads

Options:-

=1, Option ID :- 225,

= 2, Option ID :- 226,

= 3, Option ID :- 227,

= 4, Option ID :- 228,

Answer Given:- 4, Option ID : -228
Question ID:- 58

Which of the following could be an example of * onstructivism’ in classroom learning ?
(1) Oral test

(2

(3
(4

) Collaborative group work
) Demonstration of experiment
) Paper-pencil test

e 31y § f=ifrd o | #0  EaR 1 IS B §Hhdl ® 7
(1) difes gdem

(2) Hewfiicas Aigfesw S

(3) WA W yeEA

(4) FrS-ufaa wdew

Options:-

1, Option ID :- 229,

= 2, Option ID :- 230,

=« 3, Option ID :- 231,

= 4, Option ID :- 232,

Answer Given:- 1, Option ID : -229

Question ID:- 59
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What should be the essential quality of teacher in classroom ?
(1) Ability to communicate

(2) Ability to tolerate

(3) Ability to inspire

(4) Ability to understand

e § erruss o sifHarfa: Foifed O @ %= @ o @ et 2
(1)  HYW9 ! AR

(2) sfgsgar & g

(3) URA & H grEa

(4) THFA & A

Options:-

=1, Option ID :- 233,

= 2, Option ID :- 234,

=« 3, Option ID :- 235,

= 4, Option ID :- 236,

Answer Given:- 4, Option ID : -236
Question ID:- 60

What is an essential factor for learning in child ?
(1)  Minimum emotions

(2) Ego

(3) Minimum LQ.

(4) Social behaviour

a1 § 31t & fou frad wres Fefefaad = @ ?
(1) =L g

(2)

(3) A Flg-wfe

(4) HHISH HEER

Options:-

=1, Option ID :- 237,

= 2, Option ID :- 238,

=« 3, Option ID :- 239,

= 4, Option ID :- 240,

Answer Given:- 3, Option ID : -239

Question ID:- 61
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Which one of the following could be confident booster of child in learning ?
(I) Regular assessment and encouragement

(2) Rewards and incentives

(3) Regular parent interaction

(4) Taking extra classes

fa=ifea 9 9 =0 1w 9§ Sras U favamads & FLEFaT E ?
(1) Trafea e it ficrA

(2) RIS @A

(3) fafha =g § war-frar @ dag

(4) Hfafea wanst =1 3geA
Options:-

=1, Option ID :- 241,

» 2, Option ID :- 242,

= 3, Option ID :- 243,

» 4, Option ID :- 244,

Answer Given:- 1, Option ID : -241
Question ID:- 62

What is the advantage of ICT tools in classroom ?
(I) Enhances imagination
(2) Arouses curiosity

(

3) Enhances learning and retention
(4) Enhances happiness index

eyl § AT R g9 Nafial (o @ ) ISl P s § ?
(1) =91 i dgHT |

(2) 99 Iegwal Jgdl T

(3) 3T% FAEEy AT 2R g el © 1
(4) 39 S gEHiS Tl ¢ |

Options:-

=1, Option ID :- 245,

= 2, Option ID :- 246,

= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63
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What is “TLM’ in classroom ?

(1) Teaching-Learning-Material
(2) Technology-Learning-Material
(3) Teaching-Learning-Mission

(4) Technology-Levelling-Machine

HT Y ‘N TA W T ai9d FrER ® 2
(1) AfFr-afin-wfaa

(2) FAS-aH-HfEd
(3) dfan-affn-fgem

(4) SFC-Aafd-aei=

Options:-

=1, Option ID :- 249,

= 2, Option ID :- 250,

= 3, Option ID :- 251,

= 4, Option ID :- 252,

Answer Given:- 2, Option ID : -250
Question ID:- 64

What is an essential component of lesson plan ?
(I) AV aids

(2) Learning outcomes

(3) List of students

(4) Name of teacher

IS AIA1 1 e ook Fn § ?
(1) H1-3ea JUF

(2) st gfdws

(3) Teferi =t Xat

(

4)  AYH FH TH

)
)

Options:-

»1, Option ID :- 253,

= 2, Option ID :- 254,

= 3, Option ID :- 255,

= 4, Option ID :- 256,

Answer Given:- 2, Option ID : -254

Question ID:- 65
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NEP-2020 set a target to achieve ‘Foundational Literacy and Numeracy’ in primary schools by :
(1) 2030

(2) 2040
(3) 2025
(4) 2035

‘ot faan Aifa - 2020 9, e § 9 fag ad a5 wafie fagaad § ‘glhaid @ ok deme’
1 QU K 1 @y fyife R ? 2

(1) 2030
(2) 2040
(3) 2025
(4) 2035
Options:-

=1, Option ID :- 257,

» 2, Option ID :- 258,

»« 3, Option ID :- 259,

= 4, Option ID :- 260,

Answer Given:- 3, Option ID : -259
Question ID:- 66

Which one of the following would enhance learning in classreom ?
(1) Low enrolment

(2) Comfortable furniture

(3) Conducive and supporting environment in class

(4) Teaching Aids

fr=ifepa | 4, faas woraws w1 8 sty #1 g el ?
(1) =17 AHA

(2) HHE AT

(3) waH HeE® 3R IqHA A

(4)  SfeATId [

Options:-

=1, Option ID :- 261,

» 2, Option ID :- 262,

= 3, Option ID :- 263,

= 4, Option ID :- 264,

Answer Given:- 3, Option ID : -263

Question ID:- 67
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Which one of the following factors affect negatively on learning ?
(1)  Poor handwriting of teacher on Black Board

(2) Teaching Aids

(3) Dis omfortable furniture

(4) Biased attitude of teacher towards students

fr=ifea § 4 frme i X gfaga wyaE ved € 2
(1) 3ITATYH I SAFAE W B FHAAGA

(2) Togw aman

(3) TR-sm ¥ wAR

(4) fagffEl & ufa o=l =t qatusgo sifgfa

Options:-

=1, Option ID :- 265,

= 2, Option ID :- 266,

=« 3, Option ID :- 267,

= 4, Option ID :- 268,

Answer Given:- 4, Option ID : -268
Question ID:- 68

What type of teaching method be employed by teacher in classroom ?
(I)  One that snits homogeneous clientele

(2) Experimental method

(3) One that suits to heterogeneou clientele

(4) Lecture method

e 4 ey i, FA=ifea § | & 1 e fafy s =fee 2
(1) @ fafy s amm-wanteia & o {5a g

(2) g faiy)

(3) U fafu St swmin Fanfedei F srqHd &1

(4) = fafy)

Options:-

=1, Option ID :- 269,

= 2, Option ID :- 270,

= 3, Option ID :- 271,

= 4, Option ID :- 272,

Answer Given:- 2, Option ID : -270

Question ID:- 69
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The learner is actively involved in :
(1) Constructive type of learning
(2) Naturalistic type of learning
(3) Behaviouri. tic type of learmning
(4) Realistic type of learning

stfmaal fmifea 9 4, fead afraaigds a=Uw@ dar g ?
(1) HfEE H) EAES e

(2) 3T w1 gHiaad deft

(3) frm = FEERAd I

(4) S = genefardt et
Options:-

=1, Option ID :- 273,

= 2, Option ID :- 274,

= 3, Option ID :- 275,

= 4, Option ID :- 276,

Answer Given:- 1, Option ID : -273
Question ID:- 70

The learner is passive in :
(1) Connectivism

(2) Constructivism

(3) Behaviourism

(4) Cognitivism

f=ifra § 9, fead el fafsrg @@ 2

( 1) #HY«qdl]
(2) WAER
(3) SHgEIEI]
(4) HIFAR
Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Subject : CCLE_Q71-Q80_PRT24FEBSH1

Question ID:- 71
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What is inclusive education ?
(1) Special education for disabled.

(2) All children in same class irrespe tive of caste, creed, religion, physical fitness, should get
equal opportunitie

(3) Education for all.
(4) Special education for girls.

RAERN e #n g7

(1) feegim saeni =+ fau fasy faen

(2) T & H F Gt T sl € 3 forelt oft onfa da, wd, sndiftw ArEd & @, 9% T TEE SEW
foeran =nfee

(3) i & foae fran

(4) afasE & fog favm faen

Options:-

=1, Option ID :- 281,

= 2, Option ID :- 282,

= 3, Option ID :- 283,

= 4, Option ID :- 284,

Answer Given:- 2, Option ID : -282
Question ID:- 72

According to PWD Bill, 2016, which one of the following age group of Disabled children is entitled
to free education ?

(1) 6-1 years
(2) 6-14 years
(3) 0-14 years
(4) 6-15 years

v =afoal 1 s faga (Wiss 1 f9d, 2016) & 1HER fFA=ifwa § 9 fF9 99 9 & gz
AT T390 forer W 33 o g § 2

(1) 6918 TY
2) 6H149H
(3) 0¥ 14 7Y
(4 6H159Y
Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
=« 3, Option ID :- 287,
= 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73
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What is the role of schools in addressing disabled related issues ?
(1) Sympathy

(2
(3) Providing equal opportunities without any discrimination.
(4) Apathy

Empathy

feeaiia @ Gaifud gef & fAare & wa Y @0 yftw 52
(1) FergHfd

(2) gy

(3) fo A fordll YR &% 93WTE & U HHE 3EH Y& FHEA!
(49 ¥

Options:-

«1, Option ID :- 289,

= 2, Option ID :- 290,

= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74

Mental health refers to

(1) Cognitive, behavioural and emotional well being.
(2) Psychomotor - physical well being.

(3)  Social - behavioural well being.

(4) P ychol gical - social well being.

gAfas% @red & a9 fRed g ?

(1) UIAFAIHF, ATERIHHR AR AAATHS HIAT |
(2) FARS-WARE Foean

(3) UmMiSH-AGERYH FUHA |

(4) w-ETHH-gEfGE Heem )

Options:-

=1, Option ID :- 293,

= 2, Option ID :- 294,

» 3, Option ID :- 295,

= 4, Option ID :- 296,

Answer Given:- 1, Option ID : -293

Question ID:- 75
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Which one of the following intervention would address mental disorder in school children ?
(1) Chemotherapy

(2) Behavioural therapy

(3) Radio therapy

(4) Cogniti e - Behavioural therapy

freifea | & form 3o | wpef! 9= % @3fGs - fawr &1 @ ffen s w&a1 €2
(1) HHEEd

(2) SHFENIcHs 3YYR

(3) emad

(4) HIAHD-AgeRHS Rma
Options:-

=1, Option ID :- 297,

= 2, Option ID :- 298,

» 3, Option ID :- 299,

« 4, Option ID :- 300,

Answer Given:- 4, Option ID : -300
Question ID:- 76

What is ‘Hydrocephalus’ in mental health disorder ?
(1) Large Headed condition

(2) Itis cranial anomaly leading to a cumulation of fluid in Brain,
(3) Itis hormonal imbalance.
(4) Mental retardation with low 1.Q.

grfas wren faFr § * asgifathaq’ =1 aeed fHad 32

(1) o+ &R =1 89 1 g9

(2) TR S Fuery [REufg & fous wamey ofas § g9 1 987 2 §1
(3) @E AU SEIE ¥ |

@) A Yfg cifey wigd a@fas fadeq

Options:-

=1, Option ID :- 301,

= 2, Option ID :- 302,

=« 3, Option ID :- 303,

= 4, Option ID :- 304,

Answer Given:- 2, Option ID : -302

Question ID:- 77



3/7/23, 4:29 AM Response Sheet

What is the need of the hour in schools to address ‘Mental illness” among children ?
(1) Medical assistance.

(2) Allotment of separate periods to teach mental health issues.

(3) Regular appointment of professional health ounselling.

(4) Parents intervention.

ST H  HAH® T (HaRT g el § A1S 6 999 4 R | &l stavEshal €2

(1) Tafecda qgma

(2) AAEH e Fad fawll & e g gus dRFs aEfed e 9IH & sevasRdr 31
(3) =Tafas wRen wadIdsl wt Fafa dr w fFafwa feo Se s aaws §)

(4) wA-Taa % gAY H SEARIHRA ¥

Options:-

=1, Option ID :- 305,

= 2, Option ID :- 306,

=« 3, Option ID :- 307,

= 4, Option ID :- 308,

Answer Given:- 2, Option ID : -306
Question ID:- 78

How to ensure cordial Home-school relatonship in society ?
(1)  Children should take part in social activities.

(2) Regular participation of parents in school pr grammes
(3) Awareness to be created on relationship

(4) Official monit ring by parents

qoret B digigqt Te-famiem ey 9 giafrea e s arfgw ?
(1) sreTeni =1 qiaIfs nfafafei § wm o= =few )

(2) foum@a & srsd § mm-faa & FHafEa yeicr) g4 afgu)
(3) HeY % WL H SRl 3T i S =60 |

(4) wra-fad gro srEaia dr ) Feredl &) S =fge )

Options:-

=1, Option ID :- 309,

=« 2, Option ID :- 310,

=« 3, Option ID :- 311,

= 4, Option ID :- 312,

Answer Given:- 2, Option ID : -310

Question ID:- 79
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The child will develop the following quality from ‘Community centre’ ?
(1) Natural learning

&

) Excitement
(3) Behavioural change

(4) Social learning

R w5 9 Sde H AEifRd § 9 %F | 70 fasfaa gm ?

(1) A=fifs sy

(2) U

(3) TR W dfEdq
4) wHfSs A
Options:-

=1, Option ID :- 313,

= 2, Option ID :- 314,

=« 3, Option ID :- 315,

= 4, Option ID :- 316,

Answer Given:- 4, Option ID : -316
Question ID:- 80

Community learning would act as
(1) Formal learning

(2) Supplementary learning

(3) Substitute learning for school learning

(4) Non-formal learning

e et feifea 5 9 fews 18 &am?
(1) siuafe sfrm

(2 [ s

(3) faarem st & gfdwmes s

@)  IfvEia Jfem

Options:-

=1, Option ID :- 317,
»« 2, Option ID :- 318,
=« 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT24FEBSH1

Question ID:- 81
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What is an essential quality of school leader ?
(1) Good orator

(2) Team building
(3) Highly knowledgable
(4) Punctual

fae@a & a1 1 @1 ofad U R ?
(1) U9 F&

(2) Im-fmm

(3) cafus IHI

(4) wHAfAR
Options:-

=1, Option ID :- 321,

= 2, Option ID :- 322,

=« 3, Option ID :- 323,

= 4, Option ID :- 324,

Answer Given:- 2, Option ID : -322
Question ID:- 82

Which type of leadership style is more effective ?
(1)  Servant leadership

) Transformational leadership
(3) Distributed leadership

) Autocratic leadership

fa=ifera 9 4 forg TR FY A9 It 2 9rha- At gt gt B 2

(1) AF-AGA
(2) ®UREHR AgS
(3) fawfa-qo 39
(4) W= AgA
Options:-

=1, Option ID :- 325,
» 2, Option ID :- 326,
= 3, Option ID :- 327,
= 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 83
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Now a days many schools are running short of
(1) Good students

(2) Inspiring school leaders (Principal)

(3) Effective Teachers

(4) Funds

79 feAl sifuani faamedl 4, fAmifea O 9 feas 31vE §2

(1) 399 SITH-sHfershisl =l

(2) TN Ed & €9 H A & 9@ (yrar) w@
(3) UvEETEl A A

@ s
Options:-

=1, Option ID :- 329,

= 2, Option ID :- 330,

»« 3, Option ID :- 331,

« 4, Option ID :- 332,

Answer Given:- 3, Option ID : -331
Question ID:- 84

What would you suggest ‘Good Vision Statement’ for your school ?
(1) Dream big and Focus on Process rather than Goal

(2) F uson Goal

(3) Purpose oriented

(4) Value Oriented

3 YA faenaa =& feu fmifea 8 |, fod ' sam vfastaed wem’ & w9 A iter fhg S &1 g <4 2

(1) 93 @A <@ 3R e +) T TR YehH W =AM higd e
(2) @ R A Hid B
(3) FESTHE
(4) TE-3HE
Options:-

=1, Option ID :- 333,
= 2, Option ID :- 334,
= 3, Option ID :- 335,
= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85
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What is the purpose of ‘School Calendar’ ?

(1) To complete the syllabus in time

(2) To plan co-curricular activities

(3) To plan vacation schedule

(4) To complete assigned tasks within deadlines

faara & kg =1 1 yEeA § 2

(1) |3 R IRIHH U HEAT

(2) TB-U&HFAl HAHAY h] A G

(3) TE (JITHM) N TG ! IS ST

(4) Truif@ gog 9 & iR gegRke 1 1 @@ FA

Options:-

=1, Option ID :- 337,

= 2, Option ID :- 338,

=« 3, Option ID :- 339,

= 4, Option ID :- 340,

Answer Given:- 2, Option ID : -338
Question ID:- 86

What is the role of Parents Teachers Association in schools ?
(1) It facilitates positive learning environment in school
(2) To mobilise financial resources

(3) T find fault with chool

(4) It helps school to progress

faa@dl § Afavaes-tivs T 1 F11 gt 82

(1) 39% Fuasy famag § siem & fau gses JRe g9 § giaen & §
(2) fadm @A gem
(3) fomera o e
(4) 399 faa@a )y 9 gema faod €
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,
= 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87
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What is the significance of ‘Morning Assembly’ in schools ?
(1) TIthelps in routine work of schools.

(2) To communicate the information to all stake holders.
(3) Promotes value system among children.

(4) Itis part of Administrative requirement.

faa@dl § ‘ Wa: el S mE’ 1 1 wefEmd g2
(1) 399 fagma & Afafe s 9 g fgad )
(2) 359 gt Tequwenl @ g=A1 Tufad & urd &)
(3) FEY AT H g WUNCH 1 GaEH g ¥ |

(4) T% yenafs e H 9 ¥

Options:-

=1, Option ID :- 345,

= 2, Option ID :- 346,

= 3, Option ID :- 347,

= 4, Option ID :- 348,

Answer Given:- 3, Option ID : -347
Question ID:- 88

Which one of the following factors can enhance learning in classroom ?
(1) Through Group discussion

(2) Through A.V. Aids

(3) Through Self-reading

(4) Through Lecture method

fifara J 4, fa FRE (@) F Faasy a1 H ‘qitrm’ | gfg & gahdl § 2
(1) wigfes fawel & qream

(2) 9 S¥F IR o HEH

(3) @U3A & =AY Y

(4) =eE fafy & gom |

Options:-

»1, Option ID :- 349,

= 2, Option ID :- 350,

= 3, Option ID :- 351,

= 4, Option ID :- 352,

Answer Given:- 1, Option ID : -349

Question ID:- 89
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Which type of motivation is effective for learning ?
(1)  Extrinsic Motivation

(2) Intrinsic Motivation

(3) Emotional Motivation

(4) Social Motivation

f=ifera § ¥, fg yar @1 Ao sftrm & forg garet gar g ?
(1) =@ Ay

(2) 3=<d SRy

(3) HamA G

(4) FafsE  sfuRy

Options:-

=1, Option ID :- 353,

= 2, Option ID :- 354,

= 3, Option ID :- 355,

= 4, Option ID :- 356,

Answer Given:- 2, Option ID : -354
Question ID:- 90

What is the significance of ‘Feedback” mechanism in school ?
(1) It facilitates introspection to improve further
) To get more funds
(3) T inform parents
)

Part of supervision

faares 4 ‘wfagfe’ frafafr =) w0 wofear 2

(1) 399 seafdemn o yfgsy § Qur o SJae e 8 &
(2) 3 ifuew fAfel @ S

(3) HI-fad/AR9Eh S YA YA HIA

(4) I wdAsm 3w

Options:-

=1, Option ID :- 357,
= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Subject : PE_Q91-Q100_PRT24FEBSH1

Question ID:- 91
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‘PARAKH’ deals with :

(1) National Aptitude Test

(2) National Assessment in Education
(3) National Curriculum Frame w~ork
(4) National Survey on Education

‘T’ ey i d 9 R § 2
(1) T Shmngar gdem

2) Toand aiF geiE

(3) LM UEEA ERE

(4) Toen & SR H agm wqdam
Options:-

=1, Option ID :- 361,

= 2, Option ID :- 362,

= 3, Option ID :- 363,

= 4, Option ID :- 364,

Answer Given:- 2, Option ID : -362
Question ID:- 92

When was ‘Sargent Comunission’ set up in India ?
(1) 1969

(2 1961
(3) 1964
(4) 1944

gF H ' goi2’ 3ERT 1 T34 hel foRar AT o1

(1) 1969
(2) 1961
(3) 1964
(4) 1944
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,
= 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93
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The Pattern of Edu ation modified by NEP-20 as :
(1) 5+5+3+2

(2) 10+2+3
(3) 5+3+3+4
(4) 5+3+4+3

T foren Fifa - 2020 © foran sufafRa afawy &
(1) 5+5+3+2

(2) 10+2+3

(3) 5+3+3+4

(4) 5+3+4+3

Options:-

=1, Option ID :- 369,

= 2, Option ID :- 370,

=« 3, Option ID :- 371,

= 4, Option ID :- 372,

Answer Given:- 3, Option ID : -371
Question ID:- 94

How many minimum instructional hours per week is fixed for teachers as per RTE, Act 2009 ?

(1) 45
(2) 40
(3) 33
(4) 36

e = sfrar ity 2009 % AR Wi Fae A fehad T &1 foregm faea 82

( 'l) 45
(2) 40
(3) 33
(4) "6
Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,
= 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95



3/7/23, 4:29 AM Response Sheet

Free Education upto lass VIII, prescribed by :
(1) RTE Act 2009

(2) NCPCR

(3) NEP 1986

(4) NPE - 2020

HeE IS T :3[ceh Toradl &1 30y foray fruifa foan mn 32
1) T = safeer sfufaEm, 2009

(

(2) U H 9 R

(3) g faen Fifq, 1986
(4) g e A, 2020
Options:-

=1, Option ID :- 377,

= 2, Option ID :- 378,

=« 3, Option ID :- 379,

= 4, Option ID :- 380,

Answer Given:- 1, Option ID : -377
Question ID:- 96

The ‘Assessment’ in Education aims at :

(1)  Measuring learning levels and remediation
(2) Evaluation of content learnt

(3) Gauging understanding level of the child
(4) Testing skill content

s o & § o w ART §
(1) IR T 1 99e 8l gur
(2) HETHG sideas F qeaisA
(3) T W WHF F W H qfd
(4) VA T 1 ghem

Options:-

=1, Option ID :- 381,

» 2, Option ID :- 382,

= 3, Option ID :- 383,

= 4, Option ID :- 384,

Answer Given:- 1, Option ID : -381

Question ID:- 97
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What is the age bracket suggested by RTE Act 2009, in schools ?
(1) 5-18 years
(2) 6- 14 years
(3) 3-12years
(4) 6-11 years

fore =1 R afufaay, 2009 g faa@al | g gg-a 1 gaa fgan wn &2

(1) 54 18ad
(2) 6414 qd
(3) 3¥129"
4 6™I11Td
Options:-

=1, Option ID :- 385,

= 2, Option ID :- 386,

= 3, Option ID :- 387,

= 4, Option ID :- 388,

Answer Given:- 2, Option ID : -386
Question ID:- 98

According to NEP-2020, by which year the target of ‘Foundational Literacy and Numeracy’ in
Primary Education is to be achieved ?

(1) 2040
(2) 2035
(3) 2030
(4) 2025

g faan Aifa, 2020 % AR wufaes faen § ‘FRad waa R §@ma’ @ a9 e 98 9 Q@
o w1 8 2

(1) 2040
(2) 2035
(3) 2030
(4) 2025
Options:-

»1, Option ID :- 389,
= 2, Option ID :- 390,
=« 3, Option ID :- 391,
= 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99
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What PTR (Pupil-Teacher-Ratio) is prescribed in NEP-2020, in the schools located in
socio-economically disadvantaged areas ?

(1) 25:1
(2 30:1
3) 35:1
(4) 40:1

e forenr Fifa, 2020 @ afSis fde-w1 | SUfam & o erafer faama § fasg-seays 1 #

s fafea feran T 22
() 25:1

(2 "0:1

3 35:1

(4) 40:1

Options:-

=1, Option ID :- 393,

= 2, Option ID :- 394,

= 3, Option ID :- 395,

= 4, Option ID :- 396,

Answer Given:- 1, Option ID : -393
Question ID:- 100

What is the purpese of Education ?
(1) Earning to live

(2) Transformation of life

(3) T know the nature

(4) To develop positive attitude

Fareqn 1 P WAISA § 2

(1) sfteq fafg & fou s e1fsia w=
(2) e H ®uiaTo

(3) TP 1 o

(4) wwRIES Afvgla fawfaa s

Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HINDI_Q101-Q120_PRT24FEBSH1

Question ID:- 101
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Fefcfaa e ot 9t 3T MR U9 w1 Wela 3T g

7 Hfaq TRem 1 & 0 AW ¥ | Siad 1 Sicasdl #1 g hH & fAu s gm w5 Fifen ) 9]
Y e e g@ 3R wifd faer & i a5 gl &1 ot yuar A srdan §) fava ¥ S 3w o 93 €, At
qead &1 @ a8l & Faifadl &1 &fed wiag € 81 W fovags d @ SvA W wer w5 fivmn wn
3G 95a & faArw g1 fohg 9a1gE & 918 SUHA & ARt 3 Ta-Ted ieq g9 o ok ot st Sw
ofFa & fasfaa ol i 4fed | o1 ot T o fean

St =) shiaARal S w1 & AU HE Tfge

(1) wds 98
2
(3) weigh
(4) HEEH
Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,
= 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Freafafaa Tt Syt gt 3mufE uvH @t Hete I ST

1 S YRHH 1 &1 gHU 99 B | S{ia i hiSTdl 1 T HH & fAu @i+ g9 w1 9few | 959
Y el et g@ 3R wifa faeret & o a% gEdi i it ge=a1 A sRId §) fava § S 2w o 9 €, A
Hhed! ®1 T 981 & fAafadl a1 Sfed wfam @ 81 o fovagg d 99 Sym W vy &9 iR T
IGH 75 o fam9 gon | fohd 98145 & AR e ARl A Ta-TeT wfed 99 fara 3R 319 173 o =
g o fasfod 2w sl dfm d o @ o fean)

T T A A §

(1) FEdE

(2) wagd

(3) A ufeem

(4) T s
Options:-

=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,
= 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103
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FeAfafaa mener &t ggat STt JTURA e &t 'S I i

Ty 3T R 1 € gHU AW 8 | Siled W SioAsd B @ S & fau el g1 w5 9ifen ) g8
Y I eeiE g@ iR wifd faerdt € ol 9% gl 1 o ye=ar A @ ¥ fava § | 2w s ) €, St
qead &1 @ a8l & Fafadl &1 fed wiigg € 81 W fovags d @ SvA W wen w5 firmn v a
3IqH 957 ¢ o gov 1 g 9egE % 9% SuA & i 3 wa-fe a3 g9 farn iR o1 oA 2w
ofFa & fasfaa 9l i 4fed § o1 ot T o fean

fefafad 9§ g9 9 31 98 {2 ?

(1) HH" g@

(2 wifa

(3) g

(4) wfefg
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,
= 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

Freafafaa mare Syt gt mufiE UvH @t weEte I S

77 HiST IR 1 &1 HU AE & | S{o i HiSAEE H1 T H & U a9 FE Ifee | 959
Q9 g g@ iR wifd faerdt € 9l 9% gudl #1 o) ge=ar @ R Ad R fava B S 2w e Ay €,
Hqhed! 1 T F81 & fAafadl a1 sfed wfam @ 81 o fovegg d 99 Sym W vy &9 fijrn T A
3GHT 754 o fam9 gon | fohd 98185 & AR 2 AR A TF-TeT fe g9 favm 3k 319 3w o =
g fawfg i A dfm & et @ T R

fawa U 317 S5 aret W Y AFAT] H T ©

(1) g9red

2 T

(3) Rfed wfesm

(4) HATIHA
Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,
» 4, Option ID :- 416,
Answer Given:- 3, Option ID : -415

Question ID:- 105
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Frefaf@aa mever st weet SqeRT 3muifia u9s &1 Weta S difan

yr Hfa yRem 1 € @ Am 8| Siaq Y wfeasdl &1 @ w1 & fau wfe g9 e 9 ) 9
A & e g@ iR Wi o € ol @ gl 1 o yeEar A wed ¥ fava | St 2w o WE €, e
HHAT B @ 981 o HafEA 1 Hfed ofiag @ 71 R favags d 919 S9A W ven ay firn w1
IHH 954 & fFa9 gem Fhg Hergs & 1k SR %6 AvfEl | ua-feq e g1 fren 3R s e S
i @ foskfaa <ol =1 vigd § 31 oet @1 o fean)

Y favayg & ae SuH % APt 3 319q 39 & fawrg & faw @ fwan 2
(1) FIX H faw™

(2) T9E e & famm

(3) a-fea =feq 9m

(4) FH R JRH

Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

‘"SIt ¥eg 1 THEaTE 5 T 6

(1) @i
(2) dafa
(3) il
(4) A
Options:-

»1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,
» 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107

SgefE THY i I | :

(1) sxfcifad

(2) iR

(3)

(4) THER
Options:-

«1, Option ID :- 425,
= 2, Option ID :- 426,
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= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

frfefaa o deq weg A2 @
(1) ==
) T
) %%
(4) wrr
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,
= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

frfafad fachimedt wse- gl 4 e €

(1) zu-faeg
(2) FqaAw-gatw
(3) =Afe-mmfe
(4) J@-ud
Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,
= 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

frfafea § qoares [gn 9= ¢
(1) w9
2) ¥

(2)

(3) Yy
(4 TR
Options:-

»1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439
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Question ID:- 111

frafafad 4 @4y "{éf %

%

(1)
(2) T
)

(3 HelRl4
(4) 9T
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,
= 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

frmfafad J ‘ sa9E g2 vl Hera #1 et 39 R
(1) & wel

(2) g S

(3) = faufa s

(4) FAIEA T =R AT

Options:-

=1, Option ID :- 445,

= 2, Option ID :- 446,

» 3, Option ID :- 447,

= 4, Option ID :- 448,

Answer Given:- 3, Option ID : -447
Question ID:- 113

‘us Gl &) dad’ Aefafas 9§ A Bas @ §2?

(1) =T I
(2) HEE Uit
(3) R AXAY
(4) FIR AREY
Options:-

=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,
= 4, Option ID :- 452,
Answer Given:- 4, Option ID : -452

Question ID:- 114
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‘TE ) T =
(1) o &l

(2) R T

(3) R A

(4) o T
Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
» 3, Option ID :- 455,
= 4, Option ID :- 456,
Answer Given:- 1, Option ID : -453

Question ID:- 115

‘qud & gwd’ T % gdl ETHR §

(1) |G 9gd
(2) HeA =
(3) & SH
(4) W

Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

» 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116

‘Frtfoe &t A7’ =1 fpas) §2
1) ey fHg

(

(2) WA FHA T
(3) IAFmIg aha
(4) IR FEIG 6T
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,
= 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117
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“feufeua’ & @faar g -

(1) A

(2) R =

(3) fufen Tt e

() gREn T=A
Options:-

«1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

‘vrEtars gedl’ A1 & SR W Aarsy R gerdt | grel € e & o fAau e @ 9 A e e ?
(1) ST

(2) WAaW

(3) 9omH fEa

(4) T HI 2
Options:-

«1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

‘7' gof 1 FTHRU HE ©

(1) ed
(2) dEAA
(3) HEA
(4 <™
Options:-

«1, Option ID :- 473,
« 2, Option ID :- 474,
« 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120
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‘Tl A el Eaia’ & SMUR W Farzy fh W a=1 i g ?
(1) HIehl IWH! ST @I AT

(2) SMgERXTA A

(3) g A W WY g | Io fewm en

(4) TR AT A

Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Subject : ENGLISH_Q121-Q140_PRT24FEBSH1

Question ID:- 121

Read the passage given below « nd answer the question that follow :

Everytime my mother hears a tune or a song, her hands instin tively start tapping to

the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for long fime, but I didn't understand why, and forgot about her request. [ ha e
vague memories of her playing a dholak at someone’s sangeet party when 1 was a child,
but the t's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.
A while ago, on vacation in a small town, my mother” desire to get a dliolnk was rekindied.
Overjoyed at finding out that in our neighb urhood someone had a dholak, I was
immediately sent to borrow it for a few day . In the evening, she sat with the diwlak and
started playing, humming and frying to re: all tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the ool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

The mother last played dholak ...
(1) at the narrater’s wedding.
(2) ata religious function.

(3) at a sangeet eremony.

(4)  when she herself was a child.

Options:-

=1, Option ID :- 481,

= 2, Option ID :- 482,

= 3, Option ID :- 483,

= 4, Option ID :- 484,

Answer Given:- 3, Option ID : -483

Question ID:- 122
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Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to

the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for along time, but 1 didn’t understand why, and forgot about her request. I have
vague memories of her playing a dlolak at someone’s sangeet party when I was a child,
but that’s about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.
A while ago, on vacation in a small town, my mother’s desire to get a dliolnk was rekindied.
Overjoyed at finding out that in our neighb urhood someone had a dholak, I was
immediately sent to borrow it for a few days. In the evening, she sat with the diwlak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she ask: d me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

Study the following statements

The mother showed her interest in dholak by
(A) tapping a table or a laptop.

(B) asking for a dholak many a time.

(1) (A) is right and (B) is wrong.
(2) (B)isright and (A) is wrong.
(3) Both (A) and (B) are wrong.
(4) Both (A) and (B) are right.

Options:-

=1, Option ID :- 485,

= 2, Option ID :- 486,

« 3, Option ID :- 487,

= 4, Option ID :- 488,

Answer Given:- 1, Option ID : -485

Question ID:- 123
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Read the passage given below « nd answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to
the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for long time, but I didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that’s about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.

A while ago, on vacation in a small town, my mother’s desire to get a dliolnk was rekindled.
Overjoyed at finding out that in our neighb urhood someone had a dholak, I was
immediately sent to borrow it for a few days. In the evening, she sat with the diwlak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

Her desire to get a dholak resurfaced when she:
(1) passed by a musical instruments shop.

(2) heard the sound of dholak in the neighbourhood.
(3) came to know that a dholak did not cost much.
(4) realised she could borrow one from a neighbour.

Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 124

Read the passage given below «nd answer the question that follow :

Everytime my mother hears tune or a song, her hands instinctively start tapping to
the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dlolak for along time, butI didn’t understand why, and forgot about her request. I have
vague memories of her playing a dholak at someone’s sangeet party when I was a child,
but that’s about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.

A while ago, on vacation in a small town, my mother’s desire to get a dholnk was rekindied.
Overjoyed at finding out that in our neighb urhood someone had a dholak, I was
immediately sent to borrow it for a few days. In the evening, she sat with the diwlak and
started playing, humming and trying to recall tunes she used to play. Sitting on a mattress
under a sloping wooden roof, with the cool mountain breeze, I saw my mother in her
elements. While in her solitary moment of reminiscence, she asked me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

She shared her interest in music with
(1) the narrator

(2)  her mother

(3)  her sister

(4) her friends

Options:-
=1, Option ID :- 493,
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= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125

Read the passage given below and answer the question that follow :

Everytime my mother hears a tune or a song, her hands instinctively start tapping to
the beats - the table, laptop or book becomes her instrument. She has been wanting to get
a dholak for a long time, but I didn't understand why, and forgot about her request. I have
vague memories of her playing a dlolak at someone’s sangeet party when I was a child,
but the t's about it. Therefore, I could not understand why she would possibly want this
instrument after so many years.

A while ago, on vacation in a small town, my mother’s desire to get a dhiolnk was rekindied.
Overjoyed at finding out that in our neighb urhood s meone had a dholak, I was
immediately sent to borrow it for a few days. In the evening, she sat with the dliolak and
started playing, humming and trying to recall tunes she used to play. Sittin on a mattress
under a sloping wooden roof, with the cool mountain breeze, 1 saw my mother in her
elements. While in her solitary moment of reminis ence, she ask: d me to call up her sister
so that she could ask her the lyrics they used to learn and sing as children.

‘I have vague memories of ...
The underlined word does not mean :

(1) dim

(2) clear

(3) obscure

(4) faint
Options:-

=1, Option ID :- 497,

= 2, Option ID :- 498,

= 3, Option ID :- 499,

= 4, Option ID :- 500,

Answer Given:- 2, Option ID : -498
Question ID:- 126

Identify the part of the following senten e that has an error in it.

The s?l;)ﬁem;ecided toqxl(%)klyﬁm h&k at_ﬂ}%{)enem

(1) (a)
(2 ()
3) (0
(4) (d)
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504
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Question ID:- 127

Identify the part of the following sentence that has an error in it.
Could Task your favour to lend me some money ?
8 ® fgme somep

cl

D (@)
2 ®
3 (
(4) @)
Options:-

=1, Option ID :- 505,
= 2, Option ID :- 506,
=« 3, Option ID :- 507,
= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128

Identify the tense form of the following sentence.
These days [amw °  very hard.

(1)  Simple Present

(2) Present Perfect

(3)  Present Continuous

(4) Present Perfect Continuous
Options:-

=1, Option ID :- 509,

= 2, Option ID :- 510,

= 3, Option ID :- 511,

= 4, Option ID :- 512,

Answer Given:- 3, Option ID : -511

Question ID:- 129

Identify the tense form of the following sentence.

By next March we shall have been living here for two years.
(1)  Simple Future

(2) Future Perfect

(3) Future Continuous

4)

(

Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
=« 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Future Perfect Continuous.

Question ID:- 130
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Choose the option in which Voice in the following sentence has been changed correctd

She has raised the matter with him.
(1) The matter has been raised with him by her.

(2) The matter was raised by her with him.

(3) The matter had been raised by her with him.

(4) With him the matter has been raised.
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
= 3, Option ID :- 519,
= 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131

Choose the option in which Voice in the following sentence has been changed correctly.
Will you attend the party ?

(1) The party will be attended by you.

(2) Will the party be attended by you

(3) Wil the party attended by you

(4)  Will the party be attended by you ?

Options:-

=1, Option ID :- 521,

= 2, Option ID :- 522,

= 3, Option ID :- 523,

= 4, Option ID :- 524,

Answer Given:- 4, Option ID : -524

Question ID:- 132

Choose the word similar in meaning to the one given below.

Reputation
(1) Admiration (2) Regard (3) Fame (4) Reproach

Options:-

=1, Option ID :- 525,

= 2, Option ID :- 526,

=« 3, Option ID :- 527,

= 4, Option ID :- 528,

Answer Given:- 3, Option ID : -527

Question ID:- 133

Choose the word similar in meaning to the one given below.
F 1

(1) Extremist (2) Traditional (3) Admirer (4) Follower

Options:-
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«1, Option ID :- 529,
= 2, Option ID :- 530,
» 3, Option ID :- 531,
= 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Choose the word opposite in meaning to the one gi en below.
Shy
(1) Plentiful (2) Civilised (3) Needy (4) Impudent

Options:-

=1, Option ID :- 533,

= 2, Option ID :- 534,

= 3, Option ID :- 535,

= 4, Option ID :- 536,

Answer Given:- 4, Option ID : -536

Question ID:- 135

Choose the word opposite in meaning to the one gi' en below.
Sober

Options:-

=1, Option ID :- 537,

= 2, Option ID :- 538,

=« 3, Option ID :- 539,

= 4, Option ID :- 540,

Answer Given:- 1, Option ID : -537

Question ID:- 136

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) a nuclear weapon-free

(B) are the prospects of
(€) environment

(D) what then

1) (®B), (&), ©, D

(2 (©), (B), (D), (A)

3 D) (B) (A), (O

4 (A) (©), (B), (D)
Options:-

=1, Option ID :- 541,
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= 2, Option ID :- 542,
=« 3, Option ID :- 543,
= 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Choose the option in which the following word / phrase have been rearranged to form
correct sentence.

(A) that

(B) it isin an ophimistic

(C) we should judge things
(D) frame of mind

(1)  (B), (D), (A). (O)
(2 (A) ©), (B), (D)
3 (. D), (A), (B)
(4) (D) (B), (A), (C
Options:-

=1, Option ID :- 545,

= 2, Option ID :- 546,

= 3, Option ID :- 547,

= 4, Option ID :- 548,

Answer Given:- 1, Option ID : -545
Question ID:- 138

Choose the option in which the NARRATION in the given sentence has been changed
correctly.

The teacher said, “Why have you not done your homework ?*

(1)  The teacher asked the student why he had not done her homework.
(2) The teacher asked the student wh' she had not done his homework.
(3)  The teacher asked the student why he had not done his homework ?
(4) The teacher asked the student why she had not done her homework.

Options:-

=1, Option ID :- 549,

= 2, Option ID :- 550,

= 3, Option ID :- 551,

= 4, Option ID :- 552,

Answer Given:- 3, Option ID : -551

Question ID:- 139

Fill in the blank in the following sentence with suitable preposition.
He gave that he cannot succeed.

(1) wup

(2) in
(3) out
(4) off
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Options:-
=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,
= 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Fill in the blank in the following sentence with suitable preposition.

This planwillgo _ with the farmers.
(1) down
(2 wup
(3) in
(4) into
Options:-

=1, Option ID :- 557,
= 2, Option ID :- 558,
=« 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Subject : MATHS_Q141-Q160_PRT24FEBSH1
Question ID:- 141

Ten crore equal
(1) One Million.

(2) Ten Million.

(3) Hundred Million.
(4) Ome Billion.

(1) uh mfemA

(2) =4 fEfemA

3) @ fafasm

(4) uH fSfead
Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
= 3, Option ID :- 563,
= 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142
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India became an independent natien in the year :
(I) MCM XL VII

(29 MMCXL VII

(3) CMM XL VI

(4) MCMIIL

gRd . g9 H Wad U &4
(1) MCM X LVII

(2) MMC X LVII

(3) CMM X LVII

(4 MCMIIL

Options:-

=1, Option ID :- 565,

= 2, Option ID :- 566,

« 3, Option ID :- 567,

=« 4, Option ID :- 568,

Answer Given:- 3, Option ID : -567

Question ID:- 143

The difference between the greatest and smallest fi' e digit numbers formed by digits 2, 3, 5, 9
and O is :

(1) 70173
(2) 74961
(3) 92961
(4) 75071

3i 2, , 5,930 F o 9 3l ) qS F 91 9 S T I HEN ° IR B

(1) 70173
(2) 74961
(3) 926961
(4) 75071
Options:-

=1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,
= 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144
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The greatest five digit number which is completely divisible by 535 is
(1) 99995
(2) 99510
(3) 99715
(4) 99500

e siehi 1 9 @ S wEn S 535 | qolen e A E,

(1) 9999%
(2) 99510
(3) 99715
(4) 996500
Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,
= 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

If the sum of three consecutive numbers is 3000, then the numbers are :
(1) 900, 1000, 1100
(2) 998, 1000, 1002
(3) 995, 1000, 1005
(4) 999, 1000, 1001

7fg 19 HEFT TEemall &1 AP 3000 % @ 9 HE |
(1) 900, 1000, 1100
(2) 998, 1000, 1002
(3) 995, 1000, 1005
(4) 999, 1000, 1001

Options:-

=1, Option ID :- 577,

= 2, Option ID :- 578,

= 3, Option ID :- 579,

= 4, Option ID :- 580,

Answer Given:- 4, Option ID : -580

Question ID:- 146
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If a car covers 16.5 km with a litre of petrol, then the distance covered with 7.5 litres of petrol is :
(1) 12375 km

(2) 12.375 km

(3) 1125 km

(4) 123.75 km

7fg T FR U feret U2e F 16.5 km et & @t 7.5 fere U2a & gt @9 2t -
(1) 12375 km

(2) 12375 km
(3) 1125 km
(4) 123.75 ki
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,
= 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

A cuboidal ontainer is 40 cm wide, 60 cm long and 40 cm high. It is filled with water upto the
height of 20 cm. How much more water is to be poured so as to fill the container completely
(in hitres) ?

(1) 96
2) 56
(3) 48
(4) 40

Teh FAIHTHE 949 40 cm €T, 60 cm T 991 40 cm H91 8198 20 cm $91 @ T § 90§91 71 599
foraa &R ot (@R H) s o, o e os qof s 9@ v A s ?

('l) 96
(2) 56
(3) 48
(4) 40
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
=« 3, Option ID :- 587,
= 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

Question ID:- 148
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If the product of the HCF and LCM of the two numbers is 2816 and one number is 88, the other
number is ;

(1) 32
(2 36
(3) 40
(4) 48

7fg & FEnad % HCF d91 LCM %1 TUH%a 2816 § A1 T §&71 88 €, dl S8 4 &

(1) 32
(2) 36
(3) 40
(4) 48
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
=« 3, Option ID :- 591,
= 4, Option ID :- 592,
Answer Given:- 1, Option ID : -589

Question ID:- 149

Three bells ring at an interval of "0 minutes, 40 minutes and 75 minutes. They rang simultaneously
at 10:00 am. They will ring simultaneously again at :

(1) 10 pm
(2) &pm
(3) 6pm
(4) 4pm

1 el wuw: 30 e, 40 e iR 75 92 ¥ 390d o a9d) &, 9% 7% 91% 10:00 am T s o |
39 YYEId 9 Toh WY fH Sl

(1) 10 pm

2) 8pm
(3) 6pm
(4) 4pm
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
= 3, Option ID :- 595,
= 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150



3/7/23, 4:30 AM Response Sheet

3
What should be added to - to make it equal to its reciprocal ?

4
3
S
4
2 3
7
® 3
12
@ =
%ﬁw@amﬁwaﬁw%wﬁm?

(D)

)
S
\]|; K;l‘q SE] [T S X

Options:-

«1, Option ID :- 597,
= 2, Option ID :- 598,
» 3, Option ID :- 599,

« 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

On a rainy day, 96% students were present in a school and 36 students were absent. The total
strength of the school is :

(1) 950
(2) 940
(3) 925

(4) 900
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s qui a1l &, 96% Foenedi faaaa § Iyl & qun 36 faensdi srqufer 9 faznas & 3o faenf=i 1
H@I%’

(I) 950
(2) 940
(3) 925
(4) 900
Options:-

=1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,
= 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

A fraction remains the same 1 equivalent if :

(1) The same number is added to numerator and denominator.

(2) The same number is subtracted from numerator and denominator.

(3) Multiply numerator and denominator by the same number other than zero.
(4) Multiply by its reciprocal.

s i gt @t & A SR Gl § afg

(1) e 8 §&A1 39 a9 R/ H e & 3 |

(2) THIH TSN AV INM R G A TA G T |

(3) I R B HY, U G G F HY q€1 FH1 O fraw S|
(4) 8% Fohd ¥ 7un fomer S|

Options:-

=1, Option ID :- 605,

= 2, Option ID :- 606,

=« 3, Option ID :- 607,

= 4, Option ID :- 608,

Answer Given:- 3, Option ID : -607

Question ID:- 153

A car covers a distance of 315 km in 7 hours. If speed remains the same, the distance covered in
3 hours will be

(1) 125 km
(2) 135 km
(3) 140 km

(4) 145 km
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Teh %R 7 92 H 315 km U 99 4 § 1 3fg fd w9E ®@, 9t 3 = 9 g8 77 g

(1) 125 km
(2) 135 km
(3) 140 km
(4) 145 km
Options:-

»1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,
= 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

A purse costs I 325 and is sold for ¥ ”75. If the shopkeeper has earned I 350 from the sale of
purses, the number of purses sold is :

1) 8
(2 9
3) 10
(4) 11

Ush yH T AV Hed T 325 & a9 faha qe1 T 375 ¢ 1 Afe §FFRIN B! Al 1 o7 H P o1 T 550 I

() 8
2 9
(3) 10
4 11
Options:-

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,
= 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

Kapil bought ” b ttles of juice for I 51. How much money will be required to purchase 13 bottles of
juice ?

(1) < 169

(2) T 182

(3) T19

(4) T 221
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HUe 9 99 1 3 diget 251 § @il | 13 dad 8 Gl W FHa o9 31 am?

(1) T 169
(2) T 182
(3) R195
(4) T 221

Options:-

«1, Option ID :- 617,
« 2, Option ID :- 618,
» 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156

Amit bought 20 bunches of 6 flowers each for X 200. He sold each flower for®8 each. His gain or
loss is :

(1) T 100 profit

(2) % 120 profit

(3) T 140 loss

(4) < 160 profit

A 3 20 =3 wel F o9yl =3 W 6 B €, T200 T @R | 373 T3 F U FA I | SHH A
’-?T’E»"Iﬁ%:

(1) T 100 &Y
(2) T 120 &y
(3) < 140 =121
(4) T 160 &I

Options:-

«1, Option ID :- 621,
» 2, Option ID :- 622,
=« 3, Option ID :- 623,

« 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

In the month of January, there are four Sundays and the rest are working days. A student get
T 1 as pocket money per day on all working days. He is very fond of toffees. A toffee costs
T 1 each. The shop keeper agrees to give one free toffee for three wrappers . Find the number of
toffees he can purchase in January :

1y 27
2 36
(3) 39

(4) 40




3/7/23, 4:30 AM Response Sheet

Al % "EA 0 4 Forar € den I e fom €1 ve foenedl A1 1 99 @ wers e e §
39 ZIp 95 TR ¥ 1 UH ART 1 T 3TN ] 1 GHMAGR THT F FiH AU FTS % 9gat Toh THt gud H
<ar & | faene} sqad o frat <Rl @ gear &2

(1) 27
(2) 36
(3) 39
(4) 40
Options:-

=1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,
= 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

The floor of a room 6 m long and 4 m broad is to be paved with tiles each having a length of 20 cm
and a breadth of 15 cm. The number of tiles required to cover the floor is :

(1) 300
(2) 400
(3) 600
(4) 800

g T 1 B S9! AT 6 m, AT HSE4m T = 20 con T 9471 15 cm AT TBE0T H 3h1 941 & |
Y W HA 23 AW

(l) 300
(2) 400
(3) 600
(4) 800
Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,
=« 3, Option ID :- 631,
= 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159

The next two numbers in the sequence are

1,1,2,3 5,8,13,21,34, _ __ _,__ __
(1) 35,36
(2) 55,56
(3) 55, 89

(4) 47, 60



o

A= o g % T D ug ¥
1,1, 2, 3 ,5, 8, 13, 21, 34,
(1) 35, 36
(2) 55, 56
(3) 55, 89
(4) 47, 60

Options:-

=1, Option ID :- 633,

= 2, Option ID :- 634,

= 3, Option ID :- 635,

= 4, Option ID :- 636,

Answer Given:- 3, Option ID : -635

Question ID:- 160

A restaurant remains open on each day as per hhmings given belo

Day Opening hours of the restaurant
Monday 10 am - 6 pm
Tuesday 9 am -4 pm
Wednesday 10 am - 5 pm
Thursday 10 am - 6 pm
Friday 11 am - 7 pm
Saturday 11T am - 10 pm
Sunday 11 am - 5 pm

A cook is paid ¥ 50 per h ur. His weekly pay pocket is :
(1) < 550

(2) % 2100
(3) < 2500
(4) I 2750
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T IS & Ui 167 o G 61 999 30 TR T :

fe HITHTAT G T JHG
gmER 10 am - 6 pm
HTASR 9 am-4 pm
FUaR 10 am- 5 pm
m 10 am - 6 pm
HaR ITam-7 pm
vifFEar 11am-10 pm
e 11 am -5 pm

WA 9414 a1t eafad 1 T 50 9id sz oo 81 gae d g faaqt ufe i & ?

(1) ¥ 550

(2) T 2100

(3) T 2500

(4) T 2750

Options:-

«1, Option ID :- 637,
= 2, Option ID :- 638,
« 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Subject : EVS_Q161-Q180_PRT24FEBSH1
Question ID:- 161

Below are two statements. Choose the correct answer from given options.

Statement (I) : A material which gets decomposed through natural processes, as action by
bacteria, is ealled biodegradable.

Statement (II) : A material which is not easily decomposed by natural processes is termed
non=biodegradable.

(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.
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= g1 o fou e ¥ ) feu gu fasmedi § | 98 I/ 1 FT9 B

FHUA (1) : T St wpfasw whpar S Sirary &t fvan gry sigwfed @ S &, S fefieia weardr B
HeA (II) : Ig1e S Mipfash gfswansti g0 Terar ¥ faufed 48 gm, S sfiwoia Feam €

(1) TR (I) IR YW (1) <A1 T2 § )

(2) @A (1) IR YA (1) <HI T )

(3) A (I) T 2, g e (1) TAd 2

(4) WA (1) TAA B, g T () T 2

Options:-

=1, Option ID :- 641,

= 2, Option ID :- 642,

= 3, Option ID :- 643,

= 4, Option ID :- 644,

Answer Given:- 1, Option ID : -641

Question ID:- 162

Given below are two statements. One of them is labelled as Assertion {(A) and the other as
Reason (R). Choose the correct answer with the help of code gi en below :

Assertion (A) : The atmospheric nitr gen cannot be taken directly by plants and animals.

Reason (R) : Once nitrogen is converted into usable compound , it can be utilised by plants
from the soil through their root system.

) (A) and (R) both are true and (R) is the correct explanation of (A).

) (A) and (R) both are true but (R) is not the rrect explanation ef (A).
) (A) is true but (R) is false.

4) (A) is false but (R) is true.

2 3 aaeq feu 0 § | U 1 TR (A) 3R TR FIHRUT (R) el TN S 1 A9 KT %2 HT Ferman

T T S K TIF

e (A) : U @@ S argHeT AN H 3uE |G A8 R dhd |

FN (R) : " 32 sy At § uftafda @ St @ de 3He Swdm fagd | @ S dq g
W 2

(1) (A) 3 (R) SR W& &, 3R (R), (A) T TS =@ FHLa T

(2) (A) 3R (R) 3 W& §, T (R), (A) 1 T =@ & Har

(3) (A) ¥ ¥, T (R) @ B

(4) (A) T4 B, 9 (R) 9 2|

Options:-

=1, Option ID :- 645,

= 2, Option ID :- 646,

= 3, Option ID :- 647,

= 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163
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Think about the statements given below and choose the correct answer with the help of given
odes.

(A) The source of penicillin injection is meuld.

(B) Antbbiotic are mixed with the feed of livestock and poultry.

(C) Yeast reproduces rapidly and produce nitrogen during respriation.
(D) Louis Pasteur discovered fermentation in 1857.

(1) Only (A)and (D)
(2) Only (A), (B) and (C)
(3) Only (A), (B) and (D)
(4) Only (B) and (C)

= fTu o el W faar Y iR Fe Y ggEE 4 98 I 90 W
(A) Uffafas & soiea | € Wy 2

(B) Y MER TS HaFe MR | yfasifash e s g1

(C) R (@HR) TFd § 577 HToh 987 % H AR Iaifea F@ T
(D) qs IR A fwvas &1 @9 1857 | i )

E&X

(1) %9 (A) 3R (D)

(2) A (A), (B) 3 (O)
(3) am(A),( ) 3 (D)
(4) 79 (B) IR (©)

Options:-

=1, Option ID :- 649,

= 2, Option ID :- 650,

= 3, Option ID :- 651,

= 4, Option ID :- 652,

Answer Given:- 1, Option ID : -649
Question ID:- 164

Given below are two statements. One of them is labelled as Assertion {A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Fish is a good food item for health.

Reason (R) : Fish contains Cod liver oil which is rich in Vitamin-D.

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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2 3 gade7 feu 1 § | U W fuaRed (A) 3R G S FRUT (R) e 7 1 R e e e ) ggan
W & IR 1 T899 B

AMYFHT (A) : U @A % fAu 371 MR 7 |

AT (R) : TSeil H His AR 9 faea & faqd faerfua-D o1 aen o 9 e 21

(1) (A) 3 (R) SHI T €, 3 (R), (A) T TE =A@ HLA §)

(2)  (A) 3R (R) g W& §, T (R), (A) FI TE =1&q 78 =t S

3) (A) T T W (R) Tod €|

(4) (A) a4 2, W (R) §LI 2

Options:-

=1, Option ID :- 653,

» 2, Option ID :- 654,

= 3, Option ID :- 655,

= 4, Option ID :- 656,

Answer Given:- 1, Option ID : -653
Question ID:- 165

Choose the correct answer with the help of code

It is important to turn the soil and loosen it in farming becaus

(A) Itallows roots to penetrate deep in the soil.

(B) Italiows the roets to breathe easily even when they ge deep into the soil.
(C) Itleads to sinking of nutrients deeply.

Code :

(1) Only (A) and (C)

(2) Only (B) and (C)
(3) Only (B)

(4) Only (A) and (B)

% H HEAA @ HE I I =G B

et = were A qen 39 Wien SAM HiY W ed Hga et wef ¥ i
(A) 3T 9E ff § TeTE q o T ¢ |

(B) Wil fHedt ¥ e F et Wi oft HAA | TIHT R Fehelt §
(O) T s ged =) e 9 ® |

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
= 3, Option ID :- 659,
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= 4, Option ID :- 660,

Answer Given:- 1, Option ID : -657

Question ID:- 166

Response Sheet

Given below are two statements. One of them is labelled as Assertion(A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Asertion(A) :  Blood flow in arteries is rapid and at high pressure.
Reason(R) : Arterie have thick elasts walls.

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false.
(4) (A) is false but (R) is true.

= Q) ader feu mu E | w2 R (A) 3R SHU S FROT (R) % 0§ AN oy 7w 52 #) wer

W e IR I Hhi

afvEed (A) -yl § 3 &1 gemE 9 A 9 3AikE T WA )
FHRT (R) : et oY fafeai Jet SiR e & €1

(1) (A) 3R (R) g1 F&1 €, 3R (R), (A) H F& =A0Em F2d1 B
(2 (A) 3R (R) I & €, W (R), (A) F) W€ N TE A B

(3) (A) HE 8, g (R) o €
(4) (A) 9 €, W (R) T R

Options:-

=1, Option ID :- 661,
» 2, Option ID :- 662,
= 3, Option ID :- 663,
= 4, Option ID :- 664,

Answer Given:- 1, Option ID : -661

Question ID:- 167

Match the followin-
Classification of soil

(i Sandy (A)
@) Clayey (B)
(iii) Loamy ©
(1) [®-(A), (D)-(B), (1ii)-(C)
(2 @-(C), (D)-(B), (i)-(A)
() ([@-(C), @D)-(A), (iii)-(B)
4 (D-(A), (1D)-(C), (iii)-(B)

Nature of particles

Greater proportion of fine particles.

Almost equal pr: portion of large and fine particles.
Greater proportion of big particles.
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foem =+ :

et T AT T Sl Yafa

(i) 3 (A) e == F B w5

(i) THF (B) W€ 3R BT HUN I T SR {1
(iii) gwA (C) Afysw 91 H &g F0

(1) (@-(A), (iD)~(B), (1i)-(C)

(2 (®-(C), [@)-(B), (iii)-(A)

(@) @-(©). Gi)-(A), (iii)-(B)

(4)  (D-(A), (iD)~(C), (iii)-(B)
Options:-

=1, Option ID :- 665,

= 2, Option ID :- 666,

=« 3, Option ID :- 667,

= 4, Option ID :- 668,

Answer Given:- 3, Option ID : -667
Question ID:- 168

Which option best describes a tropical region ?
(1) Hot and humid

(2) Moderate temperature & heavy rainfall.
(3) Cold and humid

(4) Hotand dry.

fam § @ %1 91 fasmey swmfcad™ 93 &1 qa9< aH Har g ?
(1) 7 iR a7

(2) HeH qUEA SR SFeafyE aul

(3) 48 3R ang

(4) T 3R I

Options:-

=1, Option ID :- 669,

= 2, Option ID :- 670,

= 3, Option ID :- 671,

= 4, Option ID :- 672,

Answer Given:- 2, Option ID : -670

Question ID:- 169
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Match the following :

Body part Digestion of substance
(i)  Mouth (A) Proteins
(i)  Stomach (B) Starch
(i) Gall Bladder (C) Fats
(D ®-(C), (@)-(B), (iti)}-(A)
(2 @-(A), @)-(B), (iii)-(C)
(3)  (@)-(B), (iD)-(A), (iiD)-(C)
4 (@)-©), ()-(A), (iii)-(B)
fietm =i
YT T 347 agvef T e
) T (a) WA
(i) HAHRMEA (B) Hs
(iii) facdrem (€ a4
(D @-©), @)-(B), (u)-(A)
@ D-(A), @@D-(B), (iti)-C)
(3 ®-B), (D)-(A), (1i)-(C)
4 B-(©), ([D)-(A), (iii)-(B)
Options:-

=1, Option ID :- 673,

« 2, Option ID :- 674,

= 3, Option ID :- 675,

= 4, Option ID :- 676,

Answer Given:- 3, Option ID : -675
Question ID:- 170

Photosynthesis takes place in :
(A) Green leaves.

(B) Green stems.

(C) Green branches.

(D) Green roots.

(1) Only (A)

(2) (A)and (B)

(3)  (A) and (D)

(4) (A), (B) and (C)



3/7/23, 4:30 AM Response Sheet
W HAIT graT §
(A) =4 ofei |
(B) ®WaAiH
(C) B um@si |
(D) &S

(2 F99 (A) 3R (B)
(3) &9 (A) 3R (D)
(4 (A), (B) 3R (©)

Options:-

=1, Option ID :- 677,

= 2, Option ID :- 678,

=« 3, Option ID :- 679,

= 4, Option ID :- 680,

Answer Given:- 4, Option ID : -680
Question ID:- 171

Following are the statements related to the houses constru ted in the cold desert areas of Leh.
Choose the correct answer with the help of given codes.

(A) They are made up of stones.

(B) The ground floor is usually used for kee ing animals.

(C) Windows are constructed in the ground fl or for ventillation.

Codes :

(1) (A) and (B)

(2) (B) and (C)

(3 (A)and (O

(4) Only (A)

Fefafed wu7 &€ meerm 53 o8 § =10 & fAaio F d@<fud 81 fSu gu -2 &1 dgmar 9 98 3ok 1 99
H

(A) ¥E gerl ¥ A 9 €

(B) F R Y- I FARIR FAIL hl TG F H1H €05 |

(C) Y- W ag-gaemd % fau faghedl # o fm s 7 )
e

(1) (A) 3R (B)

(2 (B) ¥R (C)

(3 (A) R (Q)

(4) Had (A)

Options:-
=1, Option ID :- 681,
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= 2, Option ID :- 682,

=« 3, Option ID :- 683,

= 4, Option ID :- 684,

Answer Given:- 1, Option ID : -681
Question ID:- 172

" Tarun Bharat Sangh’ is an organization of Rajasthan, which works for
(1) Land management.
(2) Water management.
(3

) Excreta management.
(4) Ec nomic management for poor people.

‘FENYE I TTARA B TH GRS 5 Sl B
(1) A weuA

(2) A goEd

(3) HA-HF Hl FarA

(4) e arn & fau sufdfe yava

Options:-

=1, Option ID :- 685,

» 2, Option ID :- 686,

= 3, Option ID :- 687,

= 4, Option ID :- 688,

Answer Given:- 2, Option ID : -686
Question ID:- 173

Abu Dhabi has only sandy soil. Oil is found below the sandy soil. Petrol is cheaper than water
here. Only one kind of tree is found here in the name of trees. Can you tell which plant is found
there ?

(1) Betel

(2) Dates

(3) Jackfruit
(4) Oak

31q et H ok Yt siiF g, Yrelt S 3 A9 de I S ¥ ) a9 U e & O € U Wi &% AW
YA Ueh € TG YT Sl € | 7 39 Tl Gehd & {oh A8 HiA-91 TS TP 1l © 2

(1) e

(2 @R

(3) Heed

(4) 3=
Options:-

=1, Option ID :- 689,
= 2, Option ID :- 690,
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= 3, Option ID :- 691,

» 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

You are a farmer of Belvanika village of Karnataka. Which of the following will you use to sprinkle
the seeds of onion in the field ?

(1) Kurige
(2) Khunti
(3) [Ilge
(4) Sickle

3T shafesh F Acafieh1 e & fHHM | 319 A & aisll &) @d 9 STdq % fou Ty qrd &1 wain &e
(1) Bfa

(2 @&

(3) sfe

(4) &
Options:-

=1, Option ID :- 693,

= 2, Option ID :- 694,

= 3, Option ID :- 695,

= 4, Option ID :- 696,

Answer Given:- 3, Option ID : -695
Question ID:- 175

Below are two statements. One of them is labelled as Assertion (A) and the other as Reason (R).
Choose the correct answer from given options.

Assertion (A) : This year Ramu did not let a single bird enter into his garden. But this year the
insects have eaten the mangoes.

Reason {R) : If there had been birds then they would have eaten the insects, we would not
he e lost so many mangoes.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of {A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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A 31 oA feg T F ) u F AR (A) 3R G A HROT (R) et T 7| A U 70 %2 ) deia
Y FE ITR B T h
A (A) : 39 IR T A 39 i H vk oft vl 67 o 5u W3 SR A1 well (37W) H IS o
|
FHWOT (R) : Teft Bd @ S S W o 3R 597 e (A1) WIS AL & |
(1) (A) 3 (R) TH W& T, 3 (R), (A) T TE =AT@N FLa1 |
(2) (A) M (R) I WE § UG (R) (A) F HE SN A FA L
(3) (A) ¥E &, W (R) Ted B |
(4) (A) 7o 8, W (R) W £ |
Options:-
«1, Option ID :- 697,
= 2, Option ID :- 698,
=« 3, Option ID :- 699,
= 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697
Question ID:- 176

Read the following sentences and identify who am I from the options given below :
On my head I have a crest,

All say I dance the best,

Of my feathers I am proud,

Before the rain I cry aloud.

(1)  Wood pecker.

(2) Nightingale.

(3) Cock.

(4) Peacock.

1 ) Ygat A fon g faskedi B 9 ggmife b § 9 02
PR W B el €, 9ot Fed € o § 79 et A= fea 5
39 G 96 W AT & g3 | IR § vgd H§ 9 9 faedmr €

(1) F3HEa
(2) dgcgd
(3 i
(4 ¥
Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,
= 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177
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Which among the following is different from the others ?
(1) Bathing

(2) Washing clothes

(3) Swimming

(4) Combing hair

famfafad 3 9 -1 3 9 i 872

(1) e

(2) HYg °HI
(3) I

(4) < AT
Options:-

=1, Option ID :- 705,

« 2, Option ID :- 706,

= 3, Option ID :- 707,

= 4, Option ID :- 708,

Answer Given:- 4, Option ID : -708
Question ID:- 178

Which of the following statements are correct about the forests ?

(A) Forests protect the soil from erosion.

(B) Plants and animals in a forest are not dependent on one another.
(C) Forests influence the climate and water cycle.

(D) Soil helps forests to grow and regenerate.

1 (A) (B) (©)
2 (B) (©), D)
3)  (A), ©), )
(4) (A), (B)

1 8§ | #=-0 Fyd e & Hod ¥ w2

(A) SITE G I FREA | a9 |

(B) S H UKy 3R §g TH-gW W A 71 2 T |
) o9 Ay SR STesh B g e 8 |

(Q) g1, F I gfg IR qAskA o deras gt 7)

(L (&) (B), (©
2 ®)© O
® (@A), € ) (D)
(4 (A) B

Options:-
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«1, Option ID :- 709,
» 2, Option ID :- 710,
« 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Below are two statements. Choose the correct answer from given options.

Statement (I) : Arjuna award is given to players who achieve special achievement in games.
Statement (II) : This award is awarded by the Central government and State government together.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

9 < HyA fau u § 1 fEu gu faswedi § | @€ I 1 999 B

TR () : T R fafim wel d favm suafer yra & o faetedi &1 uem s 2
HU () : 8 YR 59 QTR 3 Hhg GHR HaAs JerPaed ¢ |

(1) e (1) 3Rk () 31 w& 2

(2) A (1) 2R (11) A T B

(3) A () T B, g T (1) Ted |

(4) WA (1) T §, T M (I1) F 2

Options:-

«1, Option ID :- 713,
« 2, Option ID :- 714,
» 3, Option ID :- 715,

« 4, Option ID :- 716,
Answer Given:- 3, Option ID :-715

Question 1ID:- 180

Below are two statements. Choose the correct answer from given options.

Statement (I) : 71% of the Earth's surface is covered with water.

Statement (II) : Most of the water present on the Earth is not fit for human consumption at all.
(1) Statement (I) and (II) both are frue.

(2) Statement (I) and (II) both are false.

(3) Statement (I) is true but statement (II) is false.

(4) Statement (I) is false but statement (II) is true.
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9 2 wyA feu o # | feu gu fawedi § F 9@ sa w1 = 1)
A () : Yol I GG B AN 71% W A H TH 2 |
HOA () : Yot TR IV FRIG ed TAE 394 & fou faespa ot 3ugad €1 §)
(1) e (1) IR (1) SH1 ¥& T

(2) weA (1) AR (1) A 7o

(3) WA (1) W g, T HYA (II) TAd § |

(4) A (I) TG &, TG T (1) T 2

Options:-

«1, Option ID :- 717,

= 2, Option ID :- 718,

» 3, Option ID :- 719,

« 4, Option ID :~ 720,
Answer Given:- 1, Option ID : -717




